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Section A ( 13 x 2 marks)

For each question, four options are glven ‘Choose the correct answer and write
its number (1, 2, 3 and 4) in the bracket provided.

1

2)

3)

Six hundred and seven in numerals is

1) 607

2) 670 |

3) 706 | | o o

4) 760 { )

Theresa bought 24 candies. She shared the candies with 2 of her friend:
How many candies would each of them have?

1) 24 x 3=72
2) 24 x 2=48
3) 24 +2=12
4 24 +3=38 ( )

Rope A is 85 cm long. Rope B is 11 cm shorter than Rope A.
What is the length of Rope B?

1) 11 cm
2) 74 cm
3) 85¢cm
4) 96 cm ( )
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4)  Nicole’s tuition class started at 11 o'clock in the-moming.
It lasted 1% hours. What time did her tuition class end?

1) 11.30 am.
2} 12.30 a.m.
3) 12.30 p.m.
4) 1.30 p.m.

1) $0.77
2) $1.75
3) $275
4)  $3.20
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. I
6) Sumei shaded " of a square

. Which diagram below shows the square that

Sumei has sha_ded?

1)

3)

2)

7) Below is a conversation between Meiling and Roy.

I have 6
marbles.

T have 20 marbles
more than you.

Which addition serjténce below showsthe marbles both of them have?

1)
2)
3)
4)

20+6 =26

20—6 =14

26 +6 = 32 ,

32-6 = 26 ( )
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9)

1) 7-3 =4
2) 7-4 =3
3) 12-4 =g
4) 12-5 =7

Jasmine walked round
What was the total djst

1) 15 m
2) 25 m
3) 50 m
4) 150 m

a basketbal court of
ance she had walked
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10)

11)

N
N

The above picture is made up of 4 semi- circles and rectangles.
How many quarter-circles can be formed from the above picture?

1) 16

2) 12

3) 8 | E

4) 4 - ( )

What is the fhissing number below?
44444444414 = 4x :

1)

3)
4)

O~
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12) 0f []+ []+U+U

=16,

then,U +D +U= . )

1) 14
2) 12
3) 3
49 6

13) Study the diagram below Carefully.

The Screw-driver ig

1) 8cm
2) 9cm
3) 10 cm
1) 11 ¢m

Screw-driver

¢m longer than the key.
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Section B ( 28 X 2 marks)

Write the correct answer for each sum in the boxes provided.

14) What is 10 more than the sum of 100 and 200?

15) Fill in each box with the correct digit.

T 3

16) Fill in each box with the correct digit.

9 2 7
- 3 0
1 S
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Number -
of books
read in

a week

A
~
A A
=

Al A

David Bala Ajni Caili

Each A stands for 3 books
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19)  Fill in the blanks with the correct number.

The above shape is made of straight lines

and curved lines.

20)

Name the shape of the shaded face of the figure above.
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21) Two twenty cents coins and ten cents coins make $1.

]

22} Arrange the following fractions from the smallest to the biggest

Smallest

23) 273 =2 hundreds

tens 13 ones
—

24)  Complete the number sentence below.
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25) Find the sum of all the numbers below.

26) Ring the objects below into groups of five.

_TE Y A7
e am@@
5ﬂma®
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- 27)  Alin's weighing scale js faulty. The mass it éhows is 8 kg heavier. What
Is Alvin's actug] mass?

28) A container ¢an hold 18 ¢ of orange juice. If the ora
into two empt

Nge juice is poured fully
Yy jars of Capacity 3 ¢ each, how many litres of juice will be Jeft
in the container?
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Study the graph carefully and answer Q30 and Q31.

A A A A A
vhy vig vhg why vhy vlyg
- > <] [ g <) > <1 = 3 > <1 =
O O O O OI O
v v 7] v v v
Amy _
- vhg vig vhg
B <3 == <:JO(> < >
. va Dy Dty
__ Betly v v
- A A
vag viag
: : < <.Q:>
Bya By
- Cathy
- vig vhey iy vAg
_ < 3 < = QOD < >
D £gA SpA A
Daryl
A
vig
3% )
Each #%® stands for 5 stickers

30) a) How many stickers does Betty have?

b) How many more stickers does Daryl have than Cathy?

31) How many stickers must Amy give to Cathy so that they will both have
equal number of stickers?
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32)

~ The above figure is made of - triangles and
, —_—

L A - semi-circles, ..
P )

3 for $2

Doreen bought 2 notebooks and 6 pens. :
If she gave the cashier a $10 hote, how much change would she get?

.37
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34) What fraction of the figurg_below is shaded?

ah
o

N3

35) Fill in the blanks to complete the number pattern below:

164, 165, 167, , 174 | 179,

36) A florist sold 140 stalks of roses in the morning.

He sold 60 more stalks in the afternoon than in the morning.

How many stalks did he sell altogether?
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38) Acowhas4le

gs and a chicken hag 2 legs.
There are 5 cows and some chickens in a farm.

39) A pizza was cut in

to 7 equal slices.
What fraction of t

John and Mary took a piece each.
he pizza was left”

S

W G
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40) The clock below showed whatiCandy was doing in her school one
' afternoon. How long did the examination take?

start of recess end of recess start of examination

end of examination

- h min

41) . Draw the next shape that would complete the pattern in the dotted box.

A< (8o
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Section C(6X3 marks)

For question 4210 47, show your working clearly in the Space provided.

42) Helen had 4p
-There were 9
She lost 7 ma
How many m

ags of marbles.

Marbles in each bag.
rbles in g game later,
arbles had Helen left?
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44) The table below shows the actual time bus number 171 wilt depart from
Mayfield Bus Interchange to Bloomsvilie Bus Interchange .

Bus No. Departure Time

171 9.00 am.
925am.
10.00 a.m.
10.30 a.m.
11.00 a.m.
11.50 a.m.

a) If Kaixin reached the bus interchange at 10.10 a.m. how long must he
- wait before the next bus arrives? ( 1 mark)

b) If Kaixin boarded the bus at 10 a.m. , he would reach his destination
at 11.12 a.m.. How long did the journey take? ( 2 marks)
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45) Miss Tan had 32 pearls. Sh_é gaﬁe % of them to Hyj Ling.

(@) How many pearls did Hyj Ling receive? (1 mark)

(b) Miss Tan gave 21 of the remaining pearls to her two sisters,

How many pearls wi each sister get? (2 marks )
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47) Nancy was given some money to buy wallets for her friends.
if she buys 2 wallets, she will have $7 left.
If she wants to buy 3 wallets, she will be short of $8.
How much does a wallet cost?

{You may draw a model to help you find the answer)

End of Paper

Please check your
work carefully!

Setters: Lon M H
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14.

16.

18.

20.

Raffles Girl Primary School
Primary 2 Maths SA2 Exam (2006)

Answer Sheets
QL Q2 Q3 Q4 Q5
1 4 2 2 3
Q6 Q7 Q8 Q9 Q10
4 3 7 3 3 3
QI11 Q12 | Q3
2 2 1

200 +100+ 10 = 310

927 — 308 = 819 -

MNumber
of books
read in
& week

rectangle

15, 723 + 167 = 890

—

17.5

AN

19.

6em B
24 straightj' lines and 2 curved

lines

DD DD

| N

PN

JAN
AN

-5

David

Bala

Aini

Caili

E=ach A stands for 3 books
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0206 x2=0.40¢

$(1.00 — 0.40) = 0.60 ¢
=6x0.10¢
= 0.60¢



22. 23.  273=2 hundreds six tens 13

2

LA e

b4

I
3

b

1
8

ones

M. 900-627=23 5 . . —

© 306+T8H17H10+845+2 < 46

TR = t} 27. 77kg- Skg = 69%g

28. 3t x2=¢t 29. 10.20 - 30 = 9.50am

30a. Betty = 3 x 5 = 15 stickers 31b. Daryl=4 x 5 =39 stickers
' Cathy = 2 x 5 = 10 stickers
(20 — 10) stickers
Daryl has 10 stickers more

3lc. Amy = 6 x 5 = 30 stickers 32. 3 triangles and 2 semicicles
Cathy=2 x 5 = 19 stickers

(30-10) = 20+-2=1¢ stickers
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33.

35.

37.

39.

41.

Notebooks = 2 for $5.00. 34.
Pens = 3 for $2.00

6 pens = $2.00 x 2 = $4.00

$(10.00 — 5.00 = 4.00) = $1.00

164, 165, 167, 170,174,179,185  36.

- 38.

40.
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140+ 60 =200

200+140 = 340 stalks altogether

Cow=4x 5 =20
(28 — 20)=8 + 2

= 4 chickens
star! of recess ental Reesy stactof examlnation end of examintation

1700hrs — 1545 = 1hr 45mins



43,

44b.

45a.

45b.

4x9=3¢g marbjes
36 — 9 = 27 marbles

Helen had 27 marbles left.
£ qarbies feft

Kathy = (305 - 105) = 200 peads
Sally = (305 + 65) = 379 beads
(305 + 200 + 370) " = 875 peads

They have 875 _beads altogethgr.' '

(10.30a-m — 10.10am) = 20mins

He waits 20 minutes for the next bus arrivgs.

(11.00am - 10.00am) = 1pr
11.12am to 10.00am =1 hour 12 minutes

The journey took 1 hour and 12 minutes,
———=14nd 12 minutes

= 1 unit

= 4 units

Blh A~

4 anits = 32 pearis

- Tunit =g pearls

Hui Ling received 8 pearls.

(32- 8)= 24pearls left.
: 24 +2 = 12 pearls

Each sister received 12 pearls.
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46. (8 — S)em = 3em
253 + 3 = 125¢m

last year Amy’s height is 125¢cm

47. 2wallets | $7.00 | $8.00
AN A

Y‘

3 wallets

3 — 2 = 1wallet

1 wallet = $(7.00 + 8.00)

= $15.00

A wallet cost $15.00
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